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Algebra 2

Solving Equations with Rational Exponents

Name___________________________________
©] m2g0v1k9[ JKuuBtVaG ^SloafVtMwaa]ryei WL[LZCy.X A \AJltlA Ardiigrh[t]si brneXsZeFrovdemdL.

-1-

Solve each equation.

1)  x
3

2
 = 343 2)  x

4

5
 = 16

3)  x
5

6
 = 32 4)  x

2

3
 = 25

5)  x
3

2
 = 512 6)  x

2

3
 = 9

7)  x
3

2
 = 64 8)  x

2

5
 = 4

9)  x
3

2
 + 2 = 731 10)  r

3

2
 + 7 = 736

11)  (x + 10)
3

2
 + 4 = 129 12)  (x - 25)

3

2
 + 6 = 131
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13)  3(x + 2)
3

2
 = 2187 14)  4(x - 18)

3

2
 = 2916

15)  (12x - 7)
4

3
 = 625 16)  (2x + 39)

1

4
 = 3

17)  3x
4

3
 = 768 18)  -2x

3

4
 = -54

19)  -2x
3

2
 + 4 = -12 20)  -4x

3

2
 + 8 = -2908

21)  (9x)
3

2
 = 27 22)  (3x)

3

2
 = 27

23)  (3x - 5)
4

3
 + 4 = 260 24)  3(x - 4)

5

3
 - 10 = 719

25)  4(7x - 3)
3

4
 + 4 = 112 26)  3(21x + 1)

3

2
 + 4 = 1540


